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Q.1 4) Select the best answer from the given aptions and rewnte tht-. sta’temen,t {AngTen}
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Q.P. Code 1000489
[Time: Three Hours] e 9 [ Marks'_::_l_u'ﬂj

‘Please check whether you have got the right questmn paper,
All guestions are compulsary. 2
All questions have internal choice. 5
Draw neat diagrams whenever necessary. .- - : _

Use of simple calculators is permitted. S
Figures to the right indicate full marks.\ £y S P QY

M.B:
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&ll gther things being equal if strawberries and cream _argmmplemen;aw gquds a fall m the prjce le
strawberries will e S R i S -

a. Shift the demand curve for strawberries to the ri‘L,h :
b. Cause a movement along the demand curve. ior ¢ 'e?ajm ;
c. Cause a fall in the price of cream o %
d. Shift the demand curve for cream to the Tlght

The supply curve shifts due to

a. Changes in technology
b. Change in input prices 2
¢. Change in the prices of related gDDI:{S SR
d. All of the above A o

\'- A Tl

a. Quantities

b. Directors

c. Governments
d. Prices.

The price elastmt'.r nF demarid measures

a. The chang\e in gLLaﬁtlt'f demanded’fof a gnod to. a t:hhng_ 16
b. The chgnge in quantm,r demandgd nf a goud toa thange ~jar'|-:e of another good

. The chang n\the quﬂhtltf damaﬁded ofa gcﬂd toa change in price of the good

d. The ﬁhange !i'l the quantlw demanded ofha goud t,u a tuange in price elasticity of supply

When _a 1% chang& in: pricr: Egﬁdstc a :L?eﬁ thange m quahtlw demanded we say demand is

F{eiatluew Eiaﬁtlc S i_ '3 '~ _Z_ s 2
b Re[atweiy in gl‘asﬂc fg o
S Umtelast!; :
d Mnne of the abmre %

a anpEnE?—ltPS fDrﬂuCtﬁﬂtiDnS

I';';.'d-s a smoothlng teu:hrf que
Emhaa;g{.il:- T A T s
-Nuﬂe ofthe ﬁbmre s

d.Tota[pruﬁt::._. L
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viii. The law of variable proportions

a, Pertains to the short run
b. Assumes one factor as fixed
c. Is also known as law of diminishing returns

d. All of the above.

ix. ‘L' shaped isoquants imply that the inputs

FRrl e g

a. Are perfect substitutes _
b. Are perfect complements i s L S
c. Cannot be used together O S e N e S
d. Must be used together in a certain propartion .+ o o o S0 =D

s £

x. The payment of interest on loans taken is an E)_{a(}l_ﬂ._[l;?'ﬁf:" s

a. Variable costs
b. Fixed costs
c.Bothaandb

d. Neither a nor b

xi. Total costs equal

a. MC+AC
b. MC+VC
c. FC+MC
d. FC+VC,

%ii. One of the ﬁ:rllowmg Ft:rrﬁuiae s mrreﬁt

a. AVC = (TC-FC)/Q

b.AVC=FC/Q =
c. AVC=TC/Q S

d Avc—[[mqul—mjmf' 3 s

A

0.1B) Match tha cona:epts andfheu deﬂn“tuans Wnte the mnr;ep‘t Wlth its appropriate definition. (Any Ten)

3 ;Deﬁmt]ons

qucepta

=1 a. Measures responsiveness of quantity
demanded to a change in incame

£ {.Bvir ofﬂemand

b. Shows the maximum output that can be
produced with a given quantity of inputs

¢. Cost which cannot be recovered if the firm

S e P shuts down
4 Ipmme gjastmntr,.- p‘f demand 3 d. Perfectly inelastic demand curve
- s ¥erticaldemand:e Quﬂ;gﬁ_ e e. Total fixed cost divided by total output
AT & 54(;“1@-_{ dEmﬂnd t:un.re -_".' f. As the price of a2 good decreases, buyers tend

to buy more and vice versa

ey o e ."'\

g. Those inputs that can be changed in the short
run.

. ? Froduc‘tmn funci:mn

h. The extra output produced by adding an
additional unit of an input to the preduction
process,

.(_'\._.\.
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9. Capital i. When market demand is equai to rnarkat
supply

10. Variable inputs j. Demand curve aff‘ rmsin’ aligapaly

11. Average Fixed cost k. A fixed input to production in the shortrun

12. Sunk cost l. A total s?l_ﬁir‘i'tha'dE:msihd CUIVE < ot

Attempt Aand BEORCand D
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Define business economics and explain its scope.

What is opportunity cost? Explain its significance in bu5|nass b= anom;cs, g \-."

e T

3

]
il
e

The table below shows hypothetical demand ﬁchadulgs f{ﬂ‘I shl[ts
Price (Rs.) | Quantity demanded Qpyy |-
20 a :
15 1 o
10 2 S
5 3
3 & e
(i) Calculate market demand.. = .

(i) Explain the determmants af demand
ﬁ.ﬂempthandBGRCandp '_ AR o
Using diagrams axplam the d1ffereace in damand cunreg afﬁrms in’ perfe-:t compehtlan and monopoly.

When price is Rs.5 quantntydamamdad is 113 unifs, Whan prlce mtreasasvta Rs.7 quantity demanded is 5

units. :
(i) Calculate pn-:a rélaa‘c:::ut'ﬁur ;tfdemand Is demand Llaﬁlc or nE|EStIE_'“

(i) Explain the vannus dagreas df elastmty nf dan'fand :

Gwefn the fallawmg damaﬁd fﬂnctmn s '_ e g
Qm =200+ r;r 45 Px; what |s yaur fargaast for be when P is 40, 50, 607

AttamptA and ESIDH Cand El ;
What ls an |sdquant? Explam pmpemas -:-f |sdquants

!Jsmg a diagram ex]:[am the thrae stagas dF the law of variable propartions.

S C} Exp1a|'r; thaéxfarnal acdndmnaa and drsamnamnes of scale.
D}

tismg dlagrama axplam the Iawaf ramrns to scale,

i \_,'..-.

ArternptA and B DR Cand D 4

A} «Dlstmg ulsh batween

=i Exphcntand +mphmt costs

SEOEY ~{u} Fixed and.variable costs

iy H!str::rlca“‘l and rep]acament costs

{iv):Sogial and: private costs
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B) Given TFC as 55, calculate TC, MC, AFC, AVC and AC (07}
Q 0 1 2 3 E
TVC 30 55 75 325 T
c) S s oloe)
D) Whatis the learning curve? Explain with a diagram. : _{{j’:.r}
0.6 Atternpt A and B OR Write short notes on any four. | e
Usmg an isoquant map and |50cost Irne explain prchnér?:r‘qu.filiHrlum a‘s¢ 'e [g‘as s "tnrﬁh {10}
(10)
changes in price and fixed cost.
(20)

.6 Write short notes. (Any four)

Functions and equations.

Income and cross elasticity of dema
Internal economies of scale.
Economies cf scope.
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